						AJW CONSTRUCT	ION		
						966 81ST AVENUE			
			BID SUMMARY	ENGINEER'S	ESTIMATE	OAKLAND, CA 94621			
						(510) 568-2300			
						(510) 639-1578			
ITEM	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL		
1	4516	SF	MINOR CONCRETE (REMOVE AND REPLACE CONCRETE SIDEWALK)	\$13.00	\$58,708.00	\$9.50	\$42,902.00		
2	476	SF	MINOR CONCRETE (REMOVE AND REPLACE CONCRETE DRIVEWAY AND CONFORMS)	\$15.00	\$7,140.00	\$11.00	\$5,236.00		
3	248	LF	MINOR CONCRETE (REMOVE AND REPLACE STANDARD CONCRETE CURB AND GUTTER)	\$45.00	\$11,160.00	\$40.00	\$9,920.00		
4	82	SF	MINOR CONCRETE (REMOVE AND REPLACE ROLLED CONCRETE CURB AND GUTTER)	\$60.00	\$4,920.00	\$45.00	\$3,690.00		
5	203	SF	4-INCH DEEP AC CONFORM	\$10.00	\$2,030.00	\$7.00	\$1,421.00		
6	1	EA	STUMP AND ROOT REMOVAL	\$400.00	\$400.00	\$350.00	\$350.00		
7	880	SF	REMOVE PLAIN OR EXPOSED AGGREGATE CONCRETE & BRICK TILE	\$12.00	\$10,560.00	\$3.50	\$3,080.00		
8	321	SF	SALVAGE AND SPREAD DECORATIVE STONES	\$6.00	\$1,926.00	\$4.00	\$1,284.00		
9	9	EA	24-INCH BOX SIZE TREE	\$400.00	\$3,600.00	\$615.00	\$5,535.00		
10	383	LF	ROOT BARRIER INSTALLATION	\$7.00	\$2,681.00	\$7.00	\$2,681.00		
11	126	SF	TURF (SOD)	\$5.00	\$630.00	\$5.00	\$630.00		
12	5	CY	IN-PLACE COMPACTED TOPSOIL	\$300.00	\$1,500.00	\$100.00	\$500.00		
13	3	EA	TREE REMOVAL	\$1,000.00	\$3,000.00	\$1,380.00	\$4,140.00		
14	27	EA	ROOT PRUNE EXISTING TREE	\$180.00	\$4,860.00	\$250.00	\$6,750.00		
15	31	EA	TREE TRIMMING	\$450.00	\$13,950.00	\$350.00	\$10,850.00		
16	69	LF	IRRIGATION PIPE AND SPRINKLER HEADS	\$4.00	\$276.00	\$5.00	\$345.00		
17	23820	SF	MINOR CONCRETE CURB RAMP WITH TRUNCATED DOME	\$17.00	\$404,940.00	\$12.50	\$297,750.00		
18	8	EA	RETROFIT EXISTING CURB RAMPS WITH DETECTABLE WARNING	\$40.00	\$320.00	\$500.00	\$4,000.00		
19	540	SF	GRIND AC PAVEMENT	\$15.00	\$8,100.00	\$10.00	\$5,400.00		
20	27	EA	ARBORIST (SUPERVISION EACH LOCATION)	\$150.00	\$4,050.00	\$75.00	\$2,025.00		
21	1	LS	RECYCLING IMPLEMENTAITON	\$703.50	\$703.50	\$100.00	\$100.00		
22	1	LS	ADMINISTRATIVE CHANGE ORDERS						
			TOTAL		\$545,454.50		\$408,589.00		

						JJR CONSTRUCT	ION, INC	ROSAS BROTHE	RS CON.	
							1120 NINTH AVENUE		4731 COLISEUM WAY	
	BID SUMMARY			ENGINEER'S ESTIMATE		SAN MATEO, CA	94402	OAKLAND, CA 94601		
							(650) 343-6109		(510) 534-1077	
						(650) 343-6207		(510) 534-5077		
ITEM	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL		TOTAL	UNIT PRICE	TOTAL	
1	4516	SF	MINOR CONCRETE (REMOVE AND REPLACE CONCRETE SIDEWALK)	\$13.00	\$58,708.00	\$13.75	\$62,095.00	\$11.50	\$51,934.00	
2	476	SF	MINOR CONCRETE (REMOVE AND REPLACE CONCRETE DRIVEWAY AND CONFORMS)	\$15.00	\$7,140.00	\$16.45	\$7,830.20	\$13.00	\$6,188.00	
3	248	IF	MINOR CONCRETE (REMOVE AND REPLACE STANDARD CONCRETE CURB AND GUTTER)	\$45.00	\$11,160.00	\$52.10	\$12,920.80	\$55.00	\$13,640.00	
4	82	SF .	MINOR CONCRETE (REMOVE AND REPLACE ROLLED CONCRETE CURB AND GUTTER)	\$60.00	\$4,920.00	\$52.50	\$4,305.00	\$70.00	\$5,740.00	
5	203	SF	4-INCH DEEP AC CONFORM	\$10.00	\$2,030.00	\$10.75	\$2,182.25	\$12.50	\$2,537.50	
6	1	EA	STUMP AND ROOT REMOVAL	\$400.00	\$400.00	\$220.00	\$220.00	\$500.00	\$500.00	
7	880	SF	REMOVE PLAIN OR EXPOSED AGGREGATE CONCRETE & BRICK TILE	\$12.00	\$10,560.00	\$10.75	\$9,460.00	\$6.50	\$5,720.00	
8	321	SF	SALVAGE AND SPREAD DECORATIVE STONES	\$6.00	\$1,926.00	\$10.00	\$3,210.00	\$6.25	\$2,006.25	
9	9	EA	24-INCH BOX SIZE TREE	\$400.00	\$3,600.00	\$587.00	\$5,283.00	\$850.00	\$7,650.00	
10	383	LF	ROOT BARRIER INSTALLATION	\$7.00	\$2,681.00	\$13.85	\$5,304.55	\$8.00	\$3,064.00	
11	126	SF	TURF (SOD)	\$5.00	\$630.00	\$6.38	\$803.88	\$8.00	\$1,008.00	
12	5	CY	IN-PLACE COMPACTED TOPSOIL	\$300.00	\$1,500.00	\$205.00	\$1,025.00	\$500.00	\$2,500.00	
13	3	EA	TREE REMOVAL	\$1,000.00	\$3,000.00	\$1,265.00	\$3,795.00	\$2,000.00	\$6,000.00	
14	27	EA	ROOT PRUNE EXISTING TREE	\$180.00	\$4,860.00	\$242.00	\$6,534.00	\$300.00	\$8,100.00	
15	31	EA	TREE TRIMMING	\$450.00	\$13,950.00	\$330.00	\$10,230.00	\$550.00	\$17,050.00	
16	69	LF	IRRIGATION PIPE AND SPRINKLER HEADS	\$4.00	\$276.00	\$12.00	\$828.00	\$15.00	\$1,035.00	
17	23820	SF	MINOR CONCRETE CURB RAMP WITH TRUNCATED DOME	\$17.00	\$404,940.00	\$15.35	\$365,637.00	\$16.00	\$381,120.00	
18	8	EA	RETROFIT EXISTING CURB RAMPS WITH DETECTABLE WARNING	\$40.00	\$320.00	\$675.00	\$5,400.00	\$600.00	\$4,800.00	
19	540	SF	GRIND AC PAVEMENT	\$15.00	\$8,100.00	\$24.50	\$13,230.00	\$20.00	\$10,800.00	
20	27	EA	ARBORIST (SUPERVISION EACH LOCATION)	\$150.00	\$4,050.00	\$210.00	\$5,670.00	\$200.00	\$5,400.00	
21	1	LS	RECYCLING IMPLEMENTAITON	\$703.50	\$703.50	\$2,500.00	\$2,500.00	\$100.00	\$100.00	
22	1	LS	ADMINISTRATIVE CHANGE ORDERS							
			TOTAL		\$545,454.50		\$528,463.68		\$536,892.75	

						SPENCON CON	STRUCTION	GOLDEN BAY C	ONSTRUCT.	
							4115 BLACKHAWK PLAZA		3826 DEPOT ROAD	
	BID SUMMARY			ENGINEER'S ESTIMATE		DANVILLE, CA 94506		HAYWARD, CA 94545		
							(925) 984-2581		(510) 783-2960	
						(925) 984-2583		(510) 783-2971		
ITEM	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
1	4516	SF	MINOR CONCRETE (REMOVE AND REPLACE CONCRETE SIDEWALK)	\$13.00	\$58,708.00	\$12.00	\$54,192.00	\$14.00	\$63,224.00	
2	476	SF	MINOR CONCRETE (REMOVE AND REPLACE CONCRETE DRIVEWAY AND CONFORMS)	\$15.00	\$7,140.00	\$14.00	\$6,664.00	\$15.00	\$7,140.00	
3	248		MINOR CONCRETE (REMOVE AND REPLACE STANDARD CONCRETE CURB AND GUTTER)	\$45.00	\$11,160.00	\$55.00	\$13,640.00	\$56.00	\$13,888.00	
4	82	SE	MINOR CONCRETE (REMOVE AND REPLACE ROLLED CONCRETE CURB AND GUTTER)	\$60.00	\$4,920.00	\$55.00	\$4,510.00	\$32.00	\$2,624.00	
5	203	SF	4-INCH DEEP AC CONFORM	\$10.00	\$2,030.00	\$8.00	\$1,624.00	\$18.00	\$3,654.00	
6	1	EA	STUMP AND ROOT REMOVAL	\$400.00	\$400.00	\$250.00	\$250.00	\$230.00	\$230.00	
7	880	SF	REMOVE PLAIN OR EXPOSED AGGREGATE CONCRETE & BRICK TILE	\$12.00	\$10,560.00	\$6.00	\$5,280.00	\$4.00	\$3,520.00	
8	321	SF	SALVAGE AND SPREAD DECORATIVE STONES	\$6.00	\$1,926.00	\$5.00	\$1,605.00	\$4.50	\$1,444.50	
9	9	EA	24-INCH BOX SIZE TREE	\$400.00	\$3,600.00	\$550.00	\$4,950.00	\$613.00	\$5,517.00	
10	383	LF	ROOT BARRIER INSTALLATION	\$7.00	\$2,681.00	\$13.00	\$4,979.00	\$15.00	\$5,745.00	
11	126	SF	TURF (SOD)	\$5.00	\$630.00	\$5.00	\$630.00	\$7.00	\$882.00	
12	5	CY	IN-PLACE COMPACTED TOPSOIL	\$300.00	\$1,500.00	\$110.00	\$550.00	\$246.00	\$1,230.00	
13	3	EA	TREE REMOVAL	\$1,000.00	\$3,000.00	\$1,150.00	\$3,450.00	\$1,323.00	\$3,969.00	
14	27	EA	ROOT PRUNE EXISTING TREE	\$180.00	\$4,860.00	\$250.00	\$6,750.00	\$253.00	\$6,831.00	
15	31	EA	TREE TRIMMING	\$450.00	\$13,950.00	\$300.00	\$9,300.00	\$345.00	\$10,695.00	
16	69	LF	IRRIGATION PIPE AND SPRINKLER HEADS	\$4.00	\$276.00	\$10.00	\$690.00	\$13.00	\$897.00	
17	23820	SF	MINOR CONCRETE CURB RAMP WITH TRUNCATED DOME	\$17.00	\$404,940.00	\$18.00	\$428,760.00	\$21.50	\$512,130.00	
18	8	EA	RETROFIT EXISTING CURB RAMPS WITH DETECTABLE WARNING	\$40.00	\$320.00	\$600.00	\$4,800.00	\$948.00	\$7,584.00	
19	540	SF	GRIND AC PAVEMENT	\$15.00	\$8,100.00	\$12.00	\$6,480.00	\$14.00	\$7,560.00	
20	27	EA	ARBORIST (SUPERVISION EACH LOCATION)	\$150.00	\$4,050.00	\$190.00	\$5,130.00	\$219.00	\$5,913.00	
21	1	LS	RECYCLING IMPLEMENTAITON	\$703.50	\$703.50	\$100.00	\$100.00	\$8,509.00	\$8,509.00	
22	1	LS	ADMINISTRATIVE CHANGE ORDERS							
			TOTAL		\$545,454.50		\$564,334.00		\$673,186.50	

						SPOSETO ENGIN	IEERING, INC.	FBD VANGUA	RD	
	BID SUMMARY						4558 CONTRACTORS PLACE		651 ENTERPRISE COURT	
							LIVERMORE, CA 94551		LIVERMORE, CA 94550	
							(925) 443-4200		(925) 245-1300	
						(925) 443-5800		(925) 245-1007		
ITEM	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
1	4516	SF	MINOR CONCRETE (REMOVE AND REPLACE CONCRETE SIDEWALK)	\$13.00	\$58,708.00	\$14.60	\$65,933.60	\$17.15	\$77,449.40	
2	476	SF	MINOR CONCRETE (REMOVE AND REPLACE CONCRETE DRIVEWAY AND CONFORMS)	\$15.00	\$7,140.00	\$17.00	\$8,092.00	\$20.00	\$9,520.00	
3	248	IF	MINOR CONCRETE (REMOVE AND REPLACE STANDARD CONCRETE CURB AND GUTTER)	\$45.00	\$11,160.00	\$63.00	\$15,624.00	\$83.00	\$20,584.00	
4	82	SF .	MINOR CONCRETE (REMOVE AND REPLACE ROLLED CONCRETE CURB AND GUTTER)	\$60.00	\$4,920.00	\$63.00	\$5,166.00	\$92.00	\$7,544.00	
5	203	SF	4-INCH DEEP AC CONFORM	\$10.00	\$2,030.00	\$28.00	\$5,684.00	\$45.00	\$9,135.00	
6	1	EA	STUMP AND ROOT REMOVAL	\$400.00	\$400.00	\$260.00	\$260.00	\$230.00	\$230.00	
7	880	SF	REMOVE PLAIN OR EXPOSED AGGREGATE CONCRETE & BRICK TILE	\$12.00	\$10,560.00	\$6.50	\$5,720.00	\$12.00	\$10,560.00	
8	321	SF	SALVAGE AND SPREAD DECORATIVE STONES	\$6.00	\$1,926.00	\$6.50	\$2,086.50	\$5.70	\$1,829.70	
9	9	EA	24-INCH BOX SIZE TREE	\$400.00	\$3,600.00	\$700.00	\$6,300.00	\$613.00	\$5,517.00	
10	383	LF	ROOT BARRIER INSTALLATION	\$7.00	\$2,681.00	\$17.00	\$6,511.00	\$14.50	\$5,553.50	
11	126	SF	TURF (SOD)	\$5.00	\$630.00	\$7.50	\$945.00	\$6.70	\$844.20	
12	5	CY	IN-PLACE COMPACTED TOPSOIL	\$300.00	\$1,500.00	\$240.00	\$1,200.00	\$214.00	\$1,070.00	
13	3	EA	TREE REMOVAL	\$1,000.00	\$3,000.00	\$1,475.00	\$4,425.00	\$1,325.00	\$3,975.00	
14	27	EA	ROOT PRUNE EXISTING TREE	\$180.00	\$4,860.00	\$290.00	\$7,830.00	\$253.00	\$6,831.00	
15	31	EA	TREE TRIMMING	\$450.00	\$13,950.00	\$385.00	\$11,935.00	\$345.00	\$10,695.00	
16	69	LF	IRRIGATION PIPE AND SPRINKLER HEADS	\$4.00	\$276.00	\$14.00	\$966.00	\$12.65	\$872.85	
17	23820	SF	MINOR CONCRETE CURB RAMP WITH TRUNCATED DOME	\$17.00	\$404,940.00	\$21.00	\$500,220.00	\$22.15	\$527,613.00	
18	8		RETROFIT EXISTING CURB RAMPS WITH DETECTABLE WARNING	\$40.00	\$320.00	\$680.00	\$5,440.00	\$2,100.00	\$16,800.00	
19	540	SF	GRIND AC PAVEMENT	\$15.00	\$8,100.00	\$44.00	\$23,760.00	\$14.35	\$7,749.00	
20	27	EA	ARBORIST (SUPERVISION EACH LOCATION)	\$150.00	\$4,050.00	\$240.00	\$6,480.00	\$220.00	\$5,940.00	
21	1	LS	RECYCLING IMPLEMENTAITON	\$703.50	\$703.50	\$900.00	\$900.00	\$1,100.00	\$1,100.00	
22	1	LS	ADMINISTRATIVE CHANGE ORDERS							
			TOTAL		\$545,454.50		\$685,478.10		\$731,412.65	